HeoHENESEN

D#HEF

— RERM—
@ BHEBRERRE 4 50K SRIEYFHK

@ BRI ) B AR 12 JEK SRR 4 K

@ T K& 18. 84 Kok k4R,

HPOBREDIESHKERD

@ TR 3 20K SR IE R TR,

® TR K2 37.68 70K SR A

® B Y EAR S 10 JEOK SR AR



O HEHENGSEM REBOH
""" =)
MPOBEHESHN)
— HESEN,
19, 15 _ 1.3 5.5_ L9
20738~ O @ g+3 @ 0.9+ 35
9 .3 3.3
=Y = = === 7 . . 2—
10 " 2 4" 4 ® ;+28= @ 24+ 3=
1_1_ _i=
4 .2 733 85
@ 5 %6.3= @1.2+3= 11 @ x2=
11 1 ®5-3= 5 3
©32%7 B153= 8
19 1 @ [x%= ® 8=
® -, x0= @ 15x = 8 7
53 3 : ® 3)(15—
@ 8x . ® 2+5= @4.5x3= 5
1.3_
® 63+ = g+;_ @190+3 D57y




